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PRAGTIGE BATGH




In the following question, a sentence 1s given with four words marked as (A),
(B) (C), and (D). These words may or may not be placed in the correct order.

Four options with different arrangements of these words have been provided




PRACTICE BATCH - DAY 2

The pattern(A) of population growth began to change
in the latter(B) half of the nineteenth century, and by
the end of the first dramatic(C) of the twentieth

century, these changes were quite quarter(D).

B-D
B-C
C-D
A-B
A-C

A



PRACTICE BATCH - DAY 2

The power(A) of population 1s so subsistence(B) to the
power of the earth to produce superior(C) for man, that
premature(D) death must in some shape or other visit

the human race.

1. A-B
2. A-C
3. B-C
4. C-D
5. B-D



PRACTICE BATCH - DAY 2

The acquired(A) of the collection(B) of social statistics
by the state 1s 1n 1tself much older, but 1t practice(C) its
modern form towards the end of the eighteenth

century(D).

B-D
B-C
C-D
A-C
A-D

A



PRACTICE BATCH - DAY 2

The world-famous heritage (A) sites of Ajanta and
Ellora, and other officials (B) spots in the district will
also remain shut on Saturdays and Sundays, while
marriages (C) will not be allowed to be held in function

halls during the lockdown period, tourist (D) said.

1. B-D
2. A-C
3. B-C
4. C-D
5. No rearrangement



PRACTICE BATCH - DAY 2

Hermione wanted (A) to be the best witch 1n the

bunked (B) of Hogwarts and thus she never history (C)
any of the classes. (D)

A-B
B-C
C-D
D-A

No Rearrangement

A



PRACTICE BATCH - DAY 2

Rearrange the following sentences P, Q, R, S, T, and U 1n the proper
sequence to form a meaningful paragraph; then answer the questions

given below.




P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the FIRST sentence
after rearrangement?
1. P

2. R

3.Q

4. S

5.U



P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the SECOND
sentence after
rearrangement?

1. R

2. S

3.T

4. Q
5.P



P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the THIRD sentence

after rearrangement?
1. P
2. Q
3. R
4. S
5.U



P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the FOURTH
sentence after
rearrangement?

1. S

2. T

3.P

4. Q
5.U



P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the FIFTH sentence

after rearrangement?
1. P
2. Q
3. R
4. S
5. T



P. It's a part of a movement of people who are working together all year
round to protect the environment.

Q. They do this to show their support for the fight against the climate crisis
and loss of biodiversity.

R. Every year, in late March, people and institutions come together to
switch off all non-essential lights for sixty minutes at 8.30 p.m. local time.
S. By switching off their lights and measuring the reduction in the amount
of energy that 1s being used, people are showing that it is possible to make a
difference.

T. But Earth Hour is more than one hour without lights, once a year.

U. Millions of people all around the world join in, as do governments,

businesses, and institutions.

Which of the
following should be
the SIXTH sentence
after rearrangement?
1. U

2. P

3.5

4. T

5. R



PRACTICE BATCH - DAY 2

The given question has one blank indicating that something
has been omitted. Choose the word from the given options
that could fit in the blank correctly.



PRACTICE BATCH - DAY 2

The book maintains an  outlook with the cartoon
dinosaurs.

1. utilize

2. ubiquitous

3. untenable

4. upbeat

5. ultimately



PRACTICE BATCH - DAY 2

The German sports brand Puma that 1t has

signed a long-term partnership deal with two upcoming

players, Washington Sundar and Devdutt Padikkal.

1. announced
2. realized

3. refused

4. amended
5. aimed



PRACTICE BATCH - DAY 2

There are many challenges including with the

current health emergency, creating more jobs,

managing economic shocks, and mitigating climate

change.

1. reacting
2. coping
3. framing
4. settling
5. releasing



PRACTICE BATCH - DAY 2

The showers can be at their peak tonight

however their glow might be dim.

1. believe
2. 1gnore
3. seen

4. neglect
5. disagree



PRACTICE BATCH - DAY 2

The extremely hot weather made people feel

and tired.

1. Lively

2. Confused
3. Impassive
4. Sober

5. Lethargic



PRACTICE BATCH - DAY 2

Which of the phrases given in the options should replace the
word phrase that 1s underlined in the sentence to make 1t
grammatically correct? If the sentence 1s correct as 1t 1s and
no correction is required, select 'No correction required' as

the answer.



PRACTICE BATCH - DAY 2

They, we and you will leave for the overseas trip,

tomorrow.

1. They, you and we

2. We, you and they

3. We, they and you

4. You, they and we

5. No correction required



PRACTICE BATCH - DAY 2

Moral ethics are to be taught to students at an early age

by their parents, teachers, and society for their overall

development.

1. 1stobe

2. arebe

3. were to be

4. wastobe

5. No Improvement



PRACTICE BATCH - DAY 2

He immediate recalled his promise to Prince Andrew

not to go there.

immediately recalled
immediate recall of
immediate recall

immediately recall

A

No improvement required



PRACTICE BATCH - DAY 2

Akbar defeated the Rajputs and so does Aurangzeb and
this established the fact that the Mughals were a force

to be reckoned with.

Akbar defeats the Rajputs and so does Aurangzeb
2. Akbar defeating the Rajputs and so does
Aurangzeb
3. Akbar defeated the Rajputs and so has Aurangzeb
4. Akbar defeated the Rajputs and so did Aurangzeb

5. No correction required



PRACTICE BATCH - DAY 2

I inquired of my friend's health over the phone when he

was absent from school on Tuesday.

Inquired after
Inquired about
Inquired to

Inquired into

A

No correction required






